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Equilibria

€ 

A K=1← →   B
2.5 moles 2.5 moles

10 moles of A are added to a beaker.
After equilibration, all of B is instantaneously removed 

from the beaker.

After re-equilibration, how many moles of B are in the  
beaker?



Le Chatelier's principle

If the conditions of a system at equilibrium are 
changed, the system moves in such a way as to 

oppose the effects of that change.

€ 

a + b K← →  c + d
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Acid-base reactions can drive reactions forward

Net Ionic Equation
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Gas evolution AND acid base reaction 
drive this reaction forward


